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Andante con moto

Franz Schubert

PMREEET -
AEETT =
i — e ——
ststy
W =
——
=
g
ﬂ F | w ;
RS ;
ﬂ [1
)
ﬂ L
A Sreres

EE=

i d

Fn

|
e

(éjf//f/?z L%?fk %f /e

L RECRES

ol



===

L

=
TET 5

1)

S

[—

2%y

1
.y

=3

=n

=

. |

[#

"
L i _ ; 119
& g - |
1{ -
T T

b T

| ¢

=
v
—
v
==
N
e g " |
F 3
Cornare e %x 7z




] | i
! 0
: 7 ;Wl
e
1Y
- ‘J_} L]

i I &
=eprliete
:
Y -.&F#HZE&
—
1 1 %_ ]
> = 5= #i iiii
: | . )
4 & ¢
=

{5’/{!/?2 %{? %x /G




b

decresce.

I I
m—c—

:

i

O —

-

CHrfo g Co
D i) #
5
. :
i i T \
I ” _H.b J ]

Pl 1 |
B

I

= gy vl

Cormire e vt



